Junior problems

J289. Let a be a real number such that 0 < a < 1. Prove that
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Proposed by Arkady Alt, San Jose, California, USA

Solution by Angel Plaza, University of Las Palmas de Gran Canaria, Spain
Since0<a<1,then0<1—a<1.
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On the other hand, for the left-hand side of the proposed identity we have
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Also solved by Archisman Gupta, RKMYV, Agartala, Tripura, India; Joshua Benabou, Manhasset High
School, NY, USA; Daniel Lasaosa, Pamplona, Navarra, Spain; Arber Igrishta, Eqrem Qabej, Vushtrri, Ko-
sovo; Mathematical Group Galaktika shqiptare, Albania; Paolo Perfetti, Universita degli studi di Tor Vergata
Roma, Italy; Alessandro Ventullo, Milan, Italy; Polyahedra, Polk State College, FL, USA; AN-anduud Pro-
blem Solving Group, Ulaanbaatar, Mongolia; loan Viorel Codreanu, Satulung, Maramures, Romania; Viet
Quoc Hoang, University of Auckland, New Zealand.
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